


Answers to Odd-Numbered Exercises Ans-1

APPENDIX C
Appendix C.1 (page C8)
1. Rational 3. Irrational 5. Rational 7. Rational

9. Rational 11. 13.

15. (a) True (b) False (c) True (d) False

(e) False (f) False

17. x is greater than and less than 3.

The interval is bounded.

19. x is no more than 5.

The interval is unbounded.

21. 23.

25. 27.

29. 31.

33. 35.

37. 39.

41. 43.

45. 47. (a) (b)

49. 51.

53. (a) (b)

55. 1 57. (a) 14 (b) 10

59. units 61. or 

63. (a) (b) 65. b

67. False; the reciprocal of 2 is which is not an integer.

68. True 69. True 70. False; 

71. True 72. True 73. Proof

75. Proof 77. Proof 79. Proof

81.

Appendix C.2 (page C15)
1. (a) 3. (a)

(b) (b)

(c) (c)

5. (a)

(b)

(c)

7. Quadrant II 9. Quadrants I and III

11. Right triangle:

13. Rhombus: the length of 15.
each side is 

17.

Collinear, because 

19.

Not collinear, because 

21. 23.

25.

27. c 28. b 29. a 30. d 31.

33. x2 � y 2 � 4x � 2y � 11 � 0

x2 � y 2 � 9 � 0

�x1 � 3x2

4
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y1 � 3y2

4 �
�x1 � x2

2
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y1 � y2

2 ��3x1 � x2

4
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3y1 � y2

4 �
y � ±�55x � ±3

d1 � d2  >  d3.

d1 � �2, d2 � �13, d3 � 5

d1 � d2 � d3.

d1 � 2�5, d2 � �5, d3 � 3�5
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��3 � 1�  >  ��3� � �1�
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x � 59x � 41x � 36

�x � 12� � 10�x � 12� � 10
�x � 2�  >  2�x� � 2

51, �51, 51�51, 51, 514, �4, 4

x

20−2− 4

x

2−2 0−4

�3  ≤  x  ≤  2�3  ≤  x  ≤  1

x

40 2−220−2

x

− 4

0  <  x  <  3�3  <  x  <  2

x

baabax

100

13−

−10

7
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